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1| i 19,745,969  53.4 19,745,969  52.8
2 sE 5 B 212,000 0.6 212,000 0.6
M FORZ A & 253,000 0.7 253,000 0.7
418 %5 # x M & 124,000 0.3 124,000 0.3
5 [BRASERENE P 5 51 22 1+ 4 86,000 0.2 86,000 0.2
6 M 7 18 Bl & & 1,065,000 2.9 1,065,000 2.9
7 |E B A5 B AT T 4 222,000 0.6 222,000 0.6
8 [H 7 K¢ B & AT & 207,986 0.6 207,986 0.6
9 K & A B 15,000 0.0 15,000 0.0
10| A2 80 22 A kF SR e 1| A A+ 4 16,000 0.0 16,000 0.0
1117 #H & k VA #H & 252,967 0.7 1,477 254,444 0.7
12168 H B & O F & B 1,057,678 2.9 1,057,678 2.8
13 I S R 3,432,247 9.3 164,097 3,596,344 9.6
14|%8 X i & 5,001,974 13.5 79,929 5,081,903 13.6
15(fF JiE I A 39,710 0.1 39,710 0.1
16|%F ik %o 118,728 0.3 9,615 128,343 0.3
174 A %o 1,131,273 3.1 1,131,273 3.0
18| i %o 1,095,511 3.0 1,095,511 2.9
19|F I A 209,190 0.6 43,966 253,156 0.7
20| & 2,649,000 7.2 187,000 2,836,000 7.6
= &t 36,935,233| 100.0 486,084 37,421,317| 100.0
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5% 18 # 117,680 0.3 125 117,805 0.3
62 H K FE X & 38,669 0.1 38,669 0.1
7 |pE T # 209,584 0.6 209,584 0.6
8 |t VN # 6,526,104 17.7 103,022 6,629,126 17.7
9 |14 ] # 1,598,463 4.3 2,915 1,601,378 4.3
10|% ) # 3,843,908 10.4 3,735 3,847,643  10.3
11| f& # 2,675,507 7.2 2,675,507 7.1
123 X s 4 146,590 0.4 146,590 0.4
13| 7 i # 169,846 0.5 A 74,357 95,489 0.3
= 7 36,935,233| 100.0 486,084 37,421,317| 100.0
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i s & 3,559,634 9.6 3,559,634 9.5
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